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1. Which RequisitePro system attribute is constant for each requirement?
A. unique ID

B. root value

C. requirement tag

D. location

Answer: A

2. Which statement is true about cutting and pasting a requirement in a requirements document?

A. A user cannot cut and paste a requirement in a requirements document.

B. A user can use the Cut and Paste commands in the Microsoft Word Edit menu to cut and paste a
requirement in a requirements document.

C. A user should not use the Cut and Paste commands in the Microsoft Word Edit menu to cut and paste
a requirement in a requirements document.

D. A user can use either the Cut and Paste commands in the Microsoft Word Edit menu or the Cut and
Paste commands in the Microsoft Word RequisitePro Requirements menu to cut and paste requirements
in a requirements document.

Answer: C

3. Which two methods can be used to deploy RequisitePro for geographically distributed teams?(Choose
two.)

A. install RequisitePro on a supported host environment

B. save requirements documents as Word documents to mail them to distributed team members for
editing

C. use RequisiteWeb for requirements management

D. replicate RequisitePro database at multiple sites

Answer: AC

4. Where is the password information stored for LDAP-enabled users?
A. the LDAP directory

B. RequisitePro
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C. the LDAP Config.ini file
D. the Project.RQL file

Answer: A

5. What is the purpose of renumbering requirements?

A. to allow users to identify a desired numbering scheme

B. to eliminate holes in a numbering scheme where requirements have been deleted
C. to aid in the removal of undesired requirements

D. to allow users to change the numbering scheme

Answer: B
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